OMR BASED WRITTEN TEST

QUESTION BOOKLET I Set Code
B. Sc. Semester - VI Examination
CHE 312-CHEMISTRY Practicals C
DL
Jate : 04/08/2021 Time : 09:00 to 11:00 am
Duration: 120 Minutes Total Marks: 140
Name of Candidate: Seat No:
INSTRUCTIONS

¢

10.

1N

12.

This booklet contains two sections with 50 questions in each section.

Ul YResdd A [Qeusll B, €35 Qeuatni wo ysl B,

Section | is Inorganic & Physical Chemistry Practicals and Section'll is Organic & Analytical
Chemistry Practicals.

[Qewat 1 yABLs wsii@As wa dllds 220 B 1A Qeauat 2 yABLs sioifls wA AARE st 220 D,
Student must attend any 35 questions out of 50 in each these two sections
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US| slfuet 3 Yslell walol Wl .

Student may attempt more than 35 questions in each Section, only best 35 answers will be
considered for evaluation.

(Qenell 35 (Qeudsmi 3uell ay yalett v Mdl 948 B, M3 Yealisel WE WA A 3W ¥euodal tRueu
At W, :

All questions carry equal marks. Two marks will be awarded for each correct answer.
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Answer of all attempted guestions must be given on OMR sheet.
YHlell %¥cllel OMR SheetMi Ucllefl 2331

Darken the most appropriate answer in OMR sheet with Black/Blue ball point pen only.
lell ay Ao yausa oMR W2 Guz 6ds /e Acael sib 53,

Return OMR sheet to invigilator on completion of test.
udlatet 3id oMR 2lle 8EARAZA urd s34,

Calculator / Other electronics devices are NOT allowed in the examination center.,
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Use of any refeljence book, note book, cell phone etc. is not permitted in the examination hall.
ULl 3on GUR 2ol Yadid), odleys 3 Qe flot ctaaedl R el

Disclosure of identity in any form on OMR sheet or resorting to any unfair means in the

exam'matian-, misbehaviour, causing disturbance in the examination hall or its premises by the
candidate will be treated as per Gujarat University rules. |
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Rough work, if any, should be done on the space provided only
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g “fa.@{lfl 1 uiﬂﬁlﬁ wsilollels wa Gﬁ(ag ¥12ALL (Section — I Inorganic & Physical Practicals)”
Q.01 1A il 5§ 3 B? (Which is correct of the following?)

[A] pH — M2t wllomi 222 5 1 ug Guell vilam (g s8] 53 usiu 8

In pH — meter Experiment end point can be determined with the help of graph of 2= — V
[B] pH — 122U Wi B - v 1 g Gurell »ilAn g 459] 53 as14 ©

In pH — meter Experiment end point can be determined with the help of graph of 75
[C] pH — {1221 Wi "'fvﬂ > AV AL ALy Gurell WA [Big Asdl 53 ws1 B

In pH — meter Experiment end point can be determined with the help of graph of * =
[D] pH — lzztt Wi 222 5 pH 41 30 Guaell vilan (g -isdl 53 s B

In pH — meter Experiment end point can be determined with the help of graph of AV

@02 pOH < uMlszet ¢ 8? (What is equation for pOH?)

[A] pOH = log[H’] [B] pOH = log[OH]
[C] pOH = - log[OH] [D] pOH = -log[H"*]

Q.03 pH- Y122 Hi 541 44 auA4 9? (Which electrode is used in pH — meter?)
[A] Pt - 44 (Pt - electrode) [B] Ag - 44 (Ag - electrode)
[C] Zn - 44 (Zn - electrode) [D] 514l 44 (Glass electrode)

Q.04 0.1 N NaOH Al giei 0N HOI G »Ud di pH Hi g g1k w1 87
What changes occur in pH if 0.1N HCl is added to 0.1 N NaOH solution?

[A] 0.1 N NaOH <l ¢laBlfl pH 42 8 (pH of 0.1 N NaOH solution decreases)

[B] 0.1 N NaOH -l glﬂugleﬂ pH AN 24 9 (pH of 0.1 N NaOH remains constant)

(CJ:0.1 N\NaOH -t gra@i{l pH Hl3-41% 4% 6 (pH of 0.1 N NaOH solution increases slowly)
[D] 0.1 N NaOH -l ¢lael pH »sudl 48 & (pH of 0.1 N NaOH solution increases rapidly)

Q.05 a1 xiell i & 4217 (Which is not correct from the following?)
2 & [A] @R 204241 253 2lei x Hl22 © (Unit of specific resistance is ohm x meter)
(B] @G Agsdl = Hud] AUgsdl x 514 AL
(Specific conductance = observed conductance * cell constant)
[C] 44 »1uisA £ 43 el B (Cell constant is denoted by -)

[D] dtsdldl 2is¥ iy 8 (Unit of conductance is ohm)



Q.06 pH Hl2ax2 id:lz_j, % ©? (Which is correct for pH-meter?)
 [A] 4 & Yl 4] sAlRzse 312 Hiud 53 WHA D
(It is an instrument which measures optical density between two electrodes)
[B] pH — H122 13L[BLd 5341 pH Ald (7) 4R14d 2R GlaBlL UAYL 8
(Buffer solution having pH seven (7) is used to calibrate pH — meter)
[C] A & Yl 428l % 2t-{l2-Ad WA 53 WHA B
(It is an instrument which measures % transmittance between two electrodes)
[D] pH — 122 WHLBd 5240 NaOH+| ¢l 2wy 8
(NaOH solution is used to calibrate pH — meter)
Q.07 ooils glaBL HI2 213 4 97 (What is the correct for basic solution?)
[A] “1odls gra@ 2 OH- -l Aigdl 107 s2di 21l ¢iu 8
(Concentration of OH- for basic solution is less than 107)
[B] &iofls grdeL Wiz OH- <l Aigdl 107 s3di aY &lu 8
(Concentration of OH- for basic solution is more than 107)
[C] 41ofls glamL M2 OH- L AigdL 107 4L sy2el diu 8
(Concentration of OH- for basic solution is equal to10-7)
[D] olofls graetl pH-l Gad Ald 5341 2lisdl Gid 8
(pH value is less than seven for basic solution)
Q.08 1AL Hidll 54 3 B? (Which is correct of the following?)
[A] graetl {l 212 Hyan w2 vl s - {122 Guaisl ©
(pPH — meter is used to measure pH of the solution)
[B] £s52 - Hl22 WHUBId 5221 0.01M NaOH < glap vy 8
(0.01M NaOH solution is used to calibrate conductometer)

[C] 5352t - Ml msulbie 52t BARRARA wiell quain 8
(Double distilled water is used to calibrate conductometer)
[D] sai3 - Hl2R wailBid 5241 HCI et quiy
(HCI solution is used to calibrate colorimeter)
Q.09" 100 ml 2.5% 3¢sios glR o194t 10% dgzioseit 26 mi LBl o3 W3?

How much ml of 10% glucose solution is required to prepare 100 ml 2.5% glucose solution?

[A] 50 [B] 75 [C] 25 [D] 33.33
Q10 Al Hiefl (AR ot oc i3 59 wls2e iy 87

E’hich Is correct equation of specific rotation « from the following?

100 x 6
A] x= Bl o= 10008 _ 100x8 __ ‘200X 8
] I x € [B] L X B [C]'x_lxmur: [D]m_l*?“!”c




Q.11 10 %W/V 2451 (M.W. = 180 gram/mole)250 ml 148l ol-ldal 326l AlH 2g5ios ¢La8L Hi APl Y37
How much gram glucose is dissolved to prepare 250 ml 10% W/V solution of glucose (M.W. =
180 gram/mole)
[A] 18 gm [B] 25 gm [C] 180 gm [D] 10 gm
Q.12 Ul 901 2124 §? (What is rate of reaction?)
[A] 2154 114 Fuenil Higdmi ad 22180 WGt 391 58 B8
(The decrease in concentration of products per unit time is called rate of reaction)
[B] 2is¥ AHAHI WBAST AigdMi 2dl AR B 921 56 B
(The increase in concentration of reactants per unit time is called rate of reaction)
[C] sM AHAML syl Aigdi adt 2t Wi 921 56 8
(The increase in concentration of products per unit time is called rate of reaction)

[D] WGt o1 UBAL £33 Higdl Sedldl -l UL &

(Rate of reaction is the sum of molecules whose concentration are changed during the reaction)

Q.13  Ald-L Hidl & «3 ©? (Which is correct from the following?)
[A] WL s34 -l £THd dHa 94 <id 9 (Order of reaction i$ always Zero)
[B] wGutL 51 Al sTHd dHat 20yells ¢id 8 (Order of reaction is always Fraction)
[C] MGl 531 -l £1Hd g4, yolls 5 2048is iy U
(Order of reaction may be zero, integer or Fraction)
[D] G 53 -l $T1d dHat yells <iu © (Order of reaction is always Integer)
Q.14 AL uidl 8 A1 8?7 (Which is correct from the following?)
[A] K2S208 214 K (a=b) a2l w4t ues s34l 8
(The reaction between K2820s and KI (a=b) is first order)
[B] K2S208 44 Kl (a=b) a2l uGt qdl4 s34 &
(The reaction between K>S20s and Kl (a=b) is third order)
[C] K2S208 @ KI (a=b) %23l ulu [£aldu sl 9
(The reaction between K2S20s and Kl (a=b) is second order)
[D) K2S208 i KI (a=b) 42l ulF41 g4 gl &9
(The reaction between K2S20s and Kl (a=b) is zero order)
Q.15 220t ARGl WIPHE AL SHRAME AL Al WAL 3L GWR g 2RR U 67

What. is the effect of increase in temperature on rate of reaction in chemical kinetics
experiment?

[A] uBuL 921 49 & (Rate of reaction increases)

(B] B @21 {1H-414 u2 © (Rate of reaction decreases slowly)

[C] uBut 331 213 26 © (Rate of reaction remains constant)

D] G 201 #sudl 42 29 (Rate of reaction decreases rapidly)



Q.16  AAAMLs ARSAL WAPHL Al ottsy WBUsA B sl o¥l 54 5¢ 250 ml 2eidl ik (am 324 5z 4

DU AL 21987

How much volume of reaction mixture is taken for titration if the total volume of the reaction

mixture is 250 ml due to the mixing of all the reactants of set in chemical kinetics experiment?
[A] 10 ml [B] 20 mi [C] S mi [D] 25 mi

Q.17 “Hz0z 4 HI (a = b) 428l UGl 2ieu sl "Wiowmi 2 = f: = 2 3 culd 57

X2

X3

What is indicated by e :—: = 2in the experiment “to study reaction between H,0, arid HI
(a = b)"?

[A] uGu wan s34l B (Reaction is of first order)

[B] uGu Badlu sl & (Reaction is of second order)

[C] WG g4 su-l B (Reaction is of zero order)

[D] 41 qdlu 54l  (Reaction is of third order)

Q.18 “"K2820s 24 Kl (a = b) 923l ulaidl w0 541" Wil = time(t) Al Alg YL HAY 4 4

(a-x)

eald 897
What indicates the straight line plot of ﬁ + time(t) in the experiment “To study the reaction
between K2S20s and Kl (a = b)"?
[A] WG qdlx s34l B (Reaction is of third order)
[B] ulxut -4 sl B (Reaction is of zero order)
[C] B uuu 51l © (Reaction is of first order)
[D] ulut Eadlu sl 8 (Reaction is of second order)
Q.19 “K2S8:05 #i4 Kl (a = b) 4=l WAl a1041 5241 "wdiami 901 xamis K a3 97

What is the equation of rate constant K for the experiment “To study the reaction between
K2S20¢ and Kl (a = b)"?

2303 , . b(a-x) . _ K ol
[A‘] K= ;("E__n' Ing a(b-x) B] i a.t % a-x

e DIk L og b=
[CIK = at a-x PlK = at ‘09

Q.20 “*HBrOg ¥t HI (a * b) 423l Wil e 5dl "Walowmi 391 21 qis K ux{lse g 97

What is the equation of rate constant K for the experiment “To study the reaction between
HBrO3 244 HI (a * b)"?

e o I N & e log et
[A] k= at a-x [B - t(a—b) lo a(b-x)

_ 1 bx ixed g B
[C] K= at a-x [D' K= a.t Ing a-x




Q.21 31 xiell g 1 B? (Which is correct from the following?)
[A] glapil Aigdl a4di wifzsa 3024 yeL 42 8
(The value of optical density decreases with increase in concentration of solution)

[B] g8l Aigdl qHdi 2iifzsat 3-8 et U W 8
(The value of optical density remains constant with increase in concentration of solution)
[C] giaet-ll Higl atdi lifzse Il Y1 a4 8
(The value of optical density increases with increase in concentration of solu
[D] viiR2sa 3201214 Het i % zi-aalle-ud YL a4 8
(The value of % transmittance increases with increase in optical density)
Q.22 131 nidl 3 1% +1? (Which is not correct from the following?)
[A] 54l 122 uHIRIA (calibrate) 533 61§ GIARL AUA B
(Buffer solution is used to calibrate colorimeter)

[B] sadl 122 WHIid (calibrate) s2al Rsd glapl AR 8

tion)

(Blank solution is used to calibrate colorimeter)
[C] grar-l viif2sa 3012l Heu atdi % zi-p{le-ud Heu 428
(The value of % transmittance decreases with increase in optical density of the solution)
[D] gra@il 2ifizsa 3412l Het u2di % gi-{lesae yeu 488
(The value of % transmittance increases with decrease in optical density of the solution)
Q.23 sadl {122 54l Rittid YR 51 52 872 (On which principle colorimeter works?)
[A] 2AlsHl Rittid (Ohm's principle)
[B] wGdlil Rittid (Pauling's principle)
[C] @i -o{lzirl [Rit4id (Lambert-Beer's principle)
[D] 21650161 RHid (Aufbau’s principle)
Q.24 A3 Hidl 5 204 4812 (Which is not correct from the following?)
[A] Ni*2 salBA NI NHsOH4 gla@ auid 8 (NHsOH solution is used in Ni*2colorimetry)
[B] Ni*2 safl[A %4lomi HCI gla@t auid 8 (HCI solution is used in Ni*2colorimetry)
[C] Nit2 salBUR wdiawi Br; 4122 44 8 (Brz water solution is used in Ni*2colorimetry)
[D] Ni*Z safl@ld wiloeii KCNSH gla8L 244 8 (KCNS solution is used in Ni*2colorimetry)
Q.25 -l Hidll derdnasdl A w2 5 wlsre iy 97

Which is correct equation of equivalent conductance A from the following?

— k x 1000 __ kX 1000 _ k X 1000
[Aly = C [B]ly = - [C] y= s [D] y = C x 1000

k
Q.26 AlsAl MIRHIUS YeU5WAHL 48U HI2 541 WG GHRAML 214 87

Which reagent is added for the precipitation in the gravimetric analysis of zinc?
[A] (NHs)3HPO4 [B] (NH4)2PO4 [C] (NH4)2HPO4 [D] (NHas)2(HPO.)2
T : o — e i




0.27 Mn <l wiadiu- 1B 3 32us Al GuaidL 531 510 4 87
What is the reason to add indicator in the precipitation of Mn ?

[A] Us-HA4FUA 2125194 (to prevent co-precipitation)

B] uRUlE @iafiu- 225194l (to prevent post precipitation)

[C] w48 l [ pH 2L gletdl 2125134l (to prevent solubility of precipitation at lower pH)

[D] - i2s144l (to prevent coagulation)
Q.28 A&l Ul 54 Al o HAlos vadU A YA 597
Which of the following is the correct chemical formula of manganese precipitate?
[A] MnNH4(PO4)2 [B] MnNH4PO, [C] Mn(NH4)2(POs)  [D] MnzNH4(POx):
Q.29 (A5l 248U A $145¥2 5L 541 “oUA” UURAML 29 897
Which “bath” is used for the digestion in the precipitate of Nickel?
[A] 2194 o1y (oil bath) [B] di22 su14 (water bath)
[C] ¥~ o1 (sand bath) [D] 2u8¥ ol (ice bath)
Q.30 ot [MaMIqUl 59 Yid silor 87 (Which metals are present in brass alloy?)
[A] 514 24 [54 (copper and nickel)  [B] 5142 214 21144 (copper.and iron)
[C] 514z 214 s (copper and zinc) [D] %{ls 213 Giset (zine and nickel)
Q.31 ol vid ol [Rear g did yeaus Hi Quldl 2B AL 202 51l 92
Which oxidizing agent is used in the analysis of brass and German silver alloy?
[A] HCI [B] H2SO04 [C] HNO3 [D] NH:OH
Q.32 w48 o seld veld Hi 3uid2 2125193 HI2 53 Gl ARURL 204 87
Which solution is used to avoid peptization.in precipitate?
[A] H20 [B] NHsNO3 [C] Cl; sxa  (Cl; water) (D] NH4OH
Q.33 Ba Al MIRHIYS Yus2BL i Ba*Z o AQHUA 5241 HI2 54 glABL UL 897
Which solution is used to precipitate Ba*2 in Gravimetric Analysis of Ba?
[A] 2N HNO3 [B] 2N HCI [C] 2N H2S04 (D] 2N NH:OH
Q.34 Fe Al 218U 341 §R1o1e Hi e 541 olle def FUidR 52 28N 30 21y §?

What is the formula of the residue in the gravimetric analysis of Fe after igniting the precipitate

in crucible?
. [A]Fes0, [B] Fe203 [C] FesOs [D] FeO
Q.35 Fe2*d 3uidR Fe¥* Hi ul4 8 AR ¢lafl- 9 WRad- 5§ uiu 87
What is the colour change when Fe?* converted to Fe3+?
[A] dlew Higl lai (green to yellow) [B] {lau il ldl (yellow to green)
[C] dletL uirll et (green to red) [D] lou #igl @i (yellow to red)



-, - ey - g oo W N ,?
Q.36 wiaiiu-l Al W2 wuddl Cl- v HiS-l 53l 2 53 98 qruRatHi 2Ud ¥°

Which solution is used to test for Cl- ion on the surface of precipitate?
[A] ¢la8L + AgNO; (solution + AgNO3) (B] graet + AgCl (solution + AgCl)
[D] qla8L + CH,COOH (solution + CHsCOOH)

[C] ¢1a@ + BaSO; (solution + BaSOas)
Q.37 enidficar Batugui 56 Hig sior 872 (Which metals are present in German silver alloy?)
[A] 51wz, Riear ¥ (e (copper, silver and nickel)
[B] 5143, Riear »i4 2414l (copper, silver and iron)
[C] 51w, (54 14 ofls (copper, nickel and zinc)

[D] oils, Rt wid (s« (zinc, silver and nickel)

Q.38 Sy AL MRAMS Y2520 1 6N NHOH 44 MM 2L M GARAL A 2l 441?

Why excess addition of 6N NHsOH sh
[A] 51203 4% NHOH Hi 21984 ged uld © (Because ppts soluble in excess NH.OH)

ould be avoided in gravimetric analysis of aluminum?

[B] 512005 2A4HY Al DA sedld 2Ud & (Because change in colour of the ppts.)
[C] 512613 »i-4 1R G~ w1t 9 (Because it produces other salt)

[D] 2utisdl 215 wet (s (None of these)
Q.39 AUFAUN AL GURHIUS YUSRBAHL WA Udl VAR YA 5 87

What is the molecular formula of the precipitate obtained in gravimetric analysis of aluminum?
[A] Al3(OH)2 [B] Al2(OH)2 [C] Al(OH)s [D] Al2(OH)3
Q40 [reza TuR 51622 ithos WAL HiaAr B Rv2 4 531 lat?
In counterpoise process for filter paper, what exactly we perform?
[A] i 4R AL Hoged 2L 530 1A (Make area of both the paper same)
[B] 6id WuR b dsy-L 3wl s34 @i (Make weight of both the paper same)

[C] vl TR Al 2512 2w 5304 &l (Make shape of both the paper same)

[D] & 4R 4 Hlaii 204 & (Wash the paper only)
Q.41 BURAL YUSSABIHE, $TUR $E HIUS DAAHINA 5l UGA, ARl QAR GHRAUME 2L GlaRI-L L $3 541 97

What is the correct order of the solution which are added before it is titrated in the volumetric
analysis of copper in the analysis of brass?
[A] NH4OH, CH3COOH, KI [B] CH3COOH, NH4OH, Ki
[C] KI, NHsOH, CH3COOH [D] KI, CH3COOH, NHsOH
Q.42 Mn AL GLURHIUS Y250 M UL Ul 142N M@;ﬁ:{ 5 87
What is the molecular formula of residue obtained in gravimetric analysis of Mn?

[A] Mn2PO;7 [B] MnP207 [C] Mn2P20; [D] Mn,P20s



Q.43 Ba Al HUIRMIMY LIHINANT Wt 2l AU A0 YA Y $U?
What is the chemical formula of the precipitate in the Bq gravimetric analysis?
* [A] BaSO, [B] Ba3(S04)2 [C] Baz(S04); [D] Bas(S0,)
Q.44 Fe Al MRHMNA 33414 Wil 13 53 2id YL 2453 501 20U o4 97

Which molecules are formed from starting to end respectively in the gravimetric analysis of Fe?
[A] FeS04.5H20, Fe304, Fe(OH);

[B] FeS04.5H20, Fe;03, Fe(OH);
[C] FeS04.5H20, Fe(OH)s, Fe;0;
[D] FeS04.5H20, Fe(OH)3, Fes04
Q.45 Al AL MRS Yuss20i Cu A CuS il £2 5341 HIS 56 U3d 4oy A4?

Which condition is not obeyed prior to passing H.S gas for the removal of Cu as CuS in Al
gravimetric analysis?
[A] cta@i ¥e 539 o34 B (it iss required to dilute the solution)
[B] grabid »iR4dls 539 o¥33l © (it is required to make the'solution acidic)
[C] grari oAsohls 539 o34l B (it is required to make the solution basic)
[D] graeid 33 539 ov3dl © (it is required to heat thesolution)
Q.46 Al AL SURHIMS Yuss2Rii NH4OH GHAL udal 3 GHAM 87 2 MiZ?
Which compound is added prior to thé addition of NH.OH in the gravimetric analysis of Al? Why?)
[A] NHsNO3, NH4* 23-g8tl 1u2dL 112 (NHeNO3, to increase NH4* concentration)

[B] NH4NO3, NO3- 2is-gBl @414l Wi2 (NH4NO3, to increase NO3- concentration)
[C] NH4CI, Cl- 2i5-¢@ Q41241 HI2 (NH,CI, to increase Cl- concentration)
[D] NH4Cl, NH4* 25-gpL 441241 112 (NH4CI, to increase NH4* concentration)
Q.47 Ba Al MIRHIUS YUSSEL HI2 54 Q1A qy 441?

Which statement is not correct in the gravimetric analysis of Ba?
[A] “adud glisami ez Tuz Al suaqt (Ignite the precipitates with filter paper)
[B] BaCl, AL He glapid 2q8U-A Wsdl AM 539
(heat the solution of diluted BaCl; before precipitation)
[C] 2N H2S04 Al glaptd 248U udal AM 539
(heat the solution of 2N H2SO, before precipitation)

[D] il #is yet (s (None of these)



Q48  GUIRHIUS YUSSBMI ADBLAMT 2UTA glagid He 539 UL M2 3R] 87
Why the solution is to be diluted in the beginning in the gravimetric analysis?

A] 2afiul 5813 Hl2L Wind 534 12 (to get the bigger size of the precipitate)

B] Ai4aSH Iy@livkA Maqdl (to maintain von Weimarn ratio)

C] 2R £33 AARUAL 58 (b2 TuR Hitll YRR it d Wi

(to prevent particles of precipitate from passing through filter paper during filtration)

[D] Uil o4l (All of these)
Q.49 Al AL LM Yussei Cu A CuS s (rezr sul ussl glagi 34 GslAH 204 897

Why solution is boiled after removing Cu as CusS in the Al gravimetric analysis?
[A] 2lBuSEHRL el €2 5241 (to remove oxidizing substance)
[B] {341 uetdl g2 524l (to remove reducing substance)
[C] CusS - &2 524l (to remove CuS)
[D] 2uniyl »is weu g (None of these)

Q.50 ot (st Hiqii Cu AL SEMIMS YussRi 541 Yy ARl 214 97

Which indicator is used in the volumetric analysis of Cu for the brass alloy?
[A] 2214 (starch) [B] fliegidl (phenolphthalein)

[C] BeusSet »iiz-e¥ (methyl orange) [D] Beuda 3¢ (methyl red)

Qo 2 WAL s1iRs i Ai-uR2lse 24e (Section — Il Organic & Analytical Practicals)”

Q.51 AWdaM wdinge WA 54 B2 What is the molecular formula of sodium thiosulphate?
[A] Na2S203 [B] Na2S204 [C] NazS303 [D] NaS20;
Q.52 AgNO3 Al glal &8 Gl 3t WHIBL Al SEHIUs Y550 541 USR] © 7

What is the type of the volumetric analysis to determine Clion concentration using AgNO3

solution?
[A] 2didlHl2s (iodimetric) [B] 2518l (A4 (complexometric)
[C] 2udisi4[2s (iodometric) [D] »1454- (precipitation)

Q.53 % HoOp HAL HIBAL SEHINS YUSSANT DUAHMANL | Geltred 521 HI2 541 GLARL GHRAUMI 214 B ?

(Which solution mixture is generally used in the volumetric analysis of determination of % of

H,0; before it is titrated?)
[A] 10 % KI + 2N HNO3 [B] 10 % Kl + 2N H2SO4

[C] 10 % Iz + 2N H2SO4 [D] 10 % Kl + 2N HCI




Q.54 Bi%* Al AsTERUAY 2uprui £20L 24u1us (titrant) AR 21T © 7
Which titrant is used in the volumetric analysis of Bi3* by complexometric titration?
' [A] EDTA [B] MgCl» [C] MgSO4 [D] AgNO;
Q.55 Bi** Hi2l AR viguruni iU 2 39 oRad- 214 § 2
What is the colour change at the end point in the analysis of Bi** by complexometric titration?
[A] cid Higdl \luil (red to yellow)
[B] a1 Hiell 21(Adl (blue to colourless)
[C] yatoll #idll 23l (pink to colourless)
[D] 2aufadl iefl 3yensi] (colourless to pink)
Q.56 Cd 2 Zn 241 ASIRAY Auiu-Aui 0] Yus AR 203 B7

Which indicator is used in the Cd and Zn in complexometric titration?

[A] S<l4isix ods 2] (Eriochrome Black T) [B] 2214 (starch)
[C] gl-iegtiel (phenolphthalein) [D] #1ud-liet »{i3-sx (xylenol orange)

Q.57 Cd @i Zn Al H2AL 24444 Cd-EDTA A1 1921 wisal M2 5l WS GRRAUMI 2113 © 7
(Which powder is used for the separation of Cd-EDTA complex in the back titration of Cd and Zn?)
[A] G535 (hexamine) [B] EDTA

[C] AgNO3 [D] studaisesid adistelsi: (diethyldithicarbamate)
Q.58 Cd 24 Zn Al Hi2AL 685 AUIUAHT 2R G W 59 2URA 2y 57

What is the colour change at the end point in the blank titration in the volumetric analysis of
CdandZn ?
[A] 22161 Hivfl 2us1 el (colourless to light pink )
[B] o421 uivll cudt (blue to red)
[C] «tiat #iell o421 (red to blue)
[D] i Hivll 324l (red to colourless)
Q.59 Fed* Al viqHu-ai veius afls 54 glam qway & 2
Which solution is used as a titrant in the volumetric analysis of Fe3+ ?
[A] Al widiuede (sodium thiosulphate) [B] EDTA
[C] Pb(NO;), [D] MgCl;
Q.60 Cd 24 Zn Uizl 2iuiuni VAU 35 54 gl QRA B 7

Which solution is used as a titrant in the volumetric analysis of Cd and Zn ?
[A] EDTA [BIMgCl>
[C] 4dlum uidinedz (sodium thiosulphate) [D] AgNO3



Yus qrualdi 2ud 97

Q.61 el s8lddL Muat-l Ca?* Mg + 2 AL s& wAgHBiL sl
he estimation of Ca>"Mg + 2* which indicator

In the volumetric analysis of hardness of water, int
is used?
[A] ©:l4isiM a5 2| (Eriochrome Black T)
[C] §liesidl (phenolphthalein)
Q.62 WElldl sAG s8lddl @4 2R X

(B] Breusa HR-o (methyl orange)

[D] 2214 (starch)
7 The temporary hardness of water is due to what?

[A] fl%'ia |4 (phosphate ions) (B] sAl1O0S 14 (chloride ions)

[C] u&k2 214 (sulphate ions) [D] cliusioli-z 24 (bicarbonate ions)

Q.63 WAl 54l4AL HIuALAL HEL Ca2* AL 5% 2 2ilAn(oHg 39 PIURAAA 21 ©97

What is the colour change at the end point in the volumetric analysis of hardness of water, in

the estimation of Ca?* ions only?
[B] oL #itl cud (blue to red)

[A] &2L Hidl PU[AdlA (blue to colourless)
[D] Al Hidl @a-s2 (eolourless to lavender)

[C] et HiYl 4a-$= (red to lavender)

Q.64 1000ml 0.1 MEDTA=____gm Ca?,

[A] 4.008 [B] 40.08 [C] 0.4008 [D] 0.04008
Q.65 ppm wisH- 54l dd edlaani 204 9? (How ppm unit is expressed?)

[A] mg/mi [B] mgl/liter [C] gm/mi [D] gm/liter

Q.66 NaCl At gtetit Hitl Cl AL Hiue M2 2@l 58 WA gARL sl S 2
Which method are we using for the determination of Cl from the given solution of NaCl?

[A] dlesid (Volhard) [B] <2 (Mohr)
[C] 5\ (Fajans) D] dﬂt}iﬁlﬂ*{ (complexometric)

Q.67 NaCl -t gaet Hitll CI Aus-ARi »iARBE WAl HI2 $40 35 ARUHL 214 87

Which indicator is used for the determination of end point in the determination of Cl from the

given solution of NaCl?
[A] AgCI [B] AgNO3 [C] CaCO3 [D] K2CrO4

Q.68 uaH[2s B4HMNA ¥2d ¢ ? (What are Argentometric titration?)
[A] Ag Ui 31 214314 (titration that involves Ag ions)
[B] Bi wili 3t 414 (titration that involves Bi ions)
[C] Ca vl {IU i4HIY- (titration that involves Ca ions)
[D] Mg »ild- {1Y 1441 (titration that involves Mg ions)
Q.69 NaCl At ¢1aet #idl Cl AL viHi-Hi pH Madal 12 1A calde Hidl 40 wetd arami 209 87
Which of the following compound is added to maintain pH in the volumetric analysis of Cl from
the given solution of NaCl?
[A] CaSO4 [B] Ca(NO3): [C] CaCO3 [D] CaCl,



Q.70  &fL wplli 516742 247 o1ty 51672 vl €1orR Gl dl Uelldl 22004 541 14?

What is the nature of the water sample if it contains carbonate and bicarbonate ions?

[A] 4224 (neutral) [B] »ixéls  (acidic)
[C] 2unidl 518 uel -l (none of the these) [D] 2uesells- (alkaline)

Q.71 NaCl -t ¢1a@t Hitll CI At AL 2i[An[6g 21 39 PruRad4 2t 8 7
What is the colour change at the endpoint in the volumetric analysis of Cl from the given
solution of NaClI?
[A] 8421 Hidl 2uAdl (blue to colourless)
[B] Ul Hidl 3ol (colourless to pink)
C] M1 HiYl Ais€2] (blue to chocolate)

D] e lou Hixl Aisd2l (white yellow to chocolate)
Q.72 H20 il AfHIN-ML 541 YAs QWR4 8 ?(Which indicator is used in the titration of H20,7?)

[A] S2l4isiH 45 2l (Eriochrome Black T)
[B] 2213 (starch)
[C] §licsuel4 (phenolphthalein)
[D] B14é-id »12-s¥ (xylenol orange)

Q.73 H202 Al v4HIMANI 2i[An (615, 21 59 PDYRAAA 214897

What is the colour change in the titration of H202?

A] adidz Hidl 2(adl4 (violet to colourless)

B] adidz #idl aatedl (violet topink)
[C] aula€l Higdl q14id2 (colourless to violet)
[D] Jetofl ikl «4idz (pink to violet)

Q.74 Cu Al AU 54l 2igHIus (titrant) 2uRA4 B? (Which titrant is used in the titration of Cu ?)

[A] idluy eidiies2 (sodium thiosulphate) [B] MgCl;
[C] EDTA [D] AgNO;
Q75 EDTA . 9 ud dHid 2l 0d otlaiedl _ audi 48 8.
EDTAis . and has capacity to form ____ with metal ions.

[AJ et 3-22, $1&2 (bi dentate, chelate)
[B] 5ot 322, £1d2 (hexa dentate, chelate)

[C] €01 322, vizaid] 251l (hexa dentate, unstable complexes)

[D] 211 $-22, »zeid] 24sldl (tri dentate, unstable complexes)



Q.76 2-u1¥jisell Steoitsss vl HedHi #4 At g 47

ent regarding 2-Hydroxy benzoic acid?

Which is NOT True statem
[A] A Az 3Ry siADS AL I8 il niotd] 312U 8 .

It gives purple colour with Neutral ferric chloride

[B] A NaOH -l glaeml wznddl gl w9, (Itis easily soluble in NaOH solution.)

(C] A sti:wuedly Hooi A3 8. (It forms intramolecular H-bond.)

[D] (CH3CO)20 it SiBCAnA WAL 2 -l .
It cannot give acetylation reaction with (CH3CO)20

Q.77 3-aiiisell Gele AL zieoiui 54 FH wii2 44l?
Which is NOT false statement regarding 3-Hydroxy phenol?
[A] ¥ 5214 i @S isAlsAlle AL unuzs & .(It is a isomer of Catechol:and hydroquinol)

(B] A NaOH i g1 a8 »id HCI AL 148! a3 A Al 2aRUA 2 B

It is a soluble in NaOH and easily reprecipitatéd by HCI solution.
(C] 3-1S§isll Gedlet Al greudL A a2y H-50 A 5REL 81

Solubility of 3-hydroxy phenol due to the intra molecular H-bond.

(D] 4 4222 FeCla it ol 2L 2wl 44l (It does not give the violet colour with Neutral FeCls)

Q.78 ¥l 2ui Yl-Il A o118l (Match List-| with List-11)

SRl (List) 20 2Bl (List-ll)
iyl (Compounds) wiiplai [elius 524021 (Confirmative test in Lab.)
a. A-AlOS ﬂﬁtT(Benz;ic—acid} i. G-iestidl4 (NaOH/Phenolphthalein)
b. +“uwd wldzz (Ethyl acetate) L i. CH;COCHa/NaOH
o, wAlA\lAii (Acetophenone) ii. 4224 FeCls (Neutral FeCls) o
g SGlAibat (mDNB) | iv. wwili-UNa:COs (lodine/NazCOs)

i wianinl wdl (sew waie 531 (Choose the correct option from the following)
[A] (a-ii), (biii), (c-i), (d-iv)
[B] (a-iii), (b-i), (c-iv), (a-ii)
[C] (a-iii), (b-iv), (c-ii), (d-i)

[D] (a-ii), (b-i), (c-iv), (d-iii)

14|Page



Q.79 1 & [l 2uden 8. (Given below are two statements)
Q-] B AA&E2s 24 NaNO/HCI 244 0-5°C 18 2431 915 5312 20U 8 .
[AH1A-1 usR(As YRS 2iqtd NaHCO3 18 CO2 AL GMHRA 21U 8 - df A1l e HCI 48 w48 2 89
Statement-| : Primary aliphatic amine gives azo dye test with NaNO2/HCI and 0-5°C.
Statement-Il: Succinic acid gives effervescence of CO, with saturated NaHCO3 and it is @asily
reprecipitated by dil. HCI.
[A] ol [Q41A | 24 [ 1) 2 8
Both statement-| and statement-Il are True.
[B] ol (At | - (@i 11 izt 8,
Both statement-| and statement-Il are False.
[C] (At | 2 & v @ 11 viig B,
Statement-| is True and statement-Il is False.
[D] Gt | i 8w B 11 2y 9,
Statement-| is False and statement-Il is true.
Q.80 2MIBS 24 A2 Beuelle A4l 423 589 Fwlias 52014l awii-a 87
Which confirmative test is common between Amide and ester functional groups?
[A] ol Gruelle a3yl 2uesdl @A l-Bls 5202 2l §
Both functional groups gives indirect azo dye test.
[B] vie Geueile unal wellad gren ey & .
Both functional groups are soluble in water.
[C] el Guielldt 24dl d2eu FeCls 52012l wud B,
Both functional groups gives neutral FeCl; test.
[D] b=t Geusllet 334l  NaOH 4 syc@otisy- sy B,
Both functional groups hydrolyzed by NaOH.
Q.81 stellfg verdll e sVidlail (yoadl) il (Identify the soluble pair of organic substances.)
[A} Bl-o3-1,3-5181e 24 B84-1,2-31416s AR (Benzene-1,3-diol and ethane-1,2-dioc acid)
[B] Wit 21 @i isafl il (Propanone and Hydroxy Naphthalene)
[C] steibuss v14-4 By SRR (Carbamide and 4-Methyl aniline)

[D] 64241, 4-1is DARLs A oot (Butane-1,4-dioic acid and Bromobenzene)



Q.82 a6 [Aui-l 21al 8. (Given below are two statements)
L] cosSaRaide 502 3R Cu Al wadl 6uR dlell orlid WU B .
[ G-l 50T 2 s o B oy oulla B oy ([Au2d FTUR ML AL 8

Statement-I: In Beilstein test urea gives green flame on Cu foil

Statement-Il: In the above test cuprous cyanide is formed which is volatile and decomposes to
copper.

[A] ol [ | 244 (@414 1] 2020 8 . (Both statement-l and statement-ll are True.)

[B] eid [t | 24 @414 Il vii2L 8. (Both statement-| and statement-Il are False.)

[C] (At | 202 8wt (A4 Ilil-i“l_é, 8. (Statement-I is True and statement-I| is False.)

[D] (At | w13 & et @t 11 13 8. (Statement-| is False and statement-ll is true.)
Q.83 1A 2ude Ul u14ui dl (Consider the given reaction:)

o NeoH
Heat
(Hydrolysis)
{II](Z:;I:::O :o' .
a n
(iii) Na,CO4 lodoform

dl ‘X' aliti (Find out the 'X".)
[A] Bada Su-iziz (Methyl Ethanoate) | [B] Su18a sz (Ethyl Ethanoate)

[C] Wil (Propanone) [D] Melsa wii4izA2 (Methyl Propanoate)

Q.84 2UUY uis s16U(As Wi’ S’ ded HAUL B .Ad QDA [AesBL oAleul olte AUl ARYH ASZYADE 4 glael
GHAL WL 2L olle 4L A5 o147

A given organic compound contain ‘'S’ element. After the forming of Lassaigne’s extract when
we add sodium nitroprusside solution which complex is formed after the reaction.
[A] Nas[Fe(CN)sNz20S] [B] Nas[Fe(CN)sNO:S]
[C] Nas[Fe(CN)sNOS) [D] Naz[Fe(CN)sN20S])
Q.85 wiSgisA| Genalle Ane YA ANy us A 2utiamidl 565 [eius s:002 »uua?

Aromatic ring contains hydroxyl functional group, which confirmative test will be given from the

following by that compound
[A] %[&s4 o152 (Mulliken-Barker) [B] 6% M8 (Silver Mirror)
[C] »14L3i51 (lodoform) [D] vl s:iél (Phthalein test)
Q.86 _ muidaouni steil+s Faedl ugla (acuq) Gl »i4 oido it vl Wil 22 )3 sulamisl su s 43 33
PRI ETETUR Y,

After finding nature of organic mixture of water insoluble phenol and base in the laboratory, on

the basis of large scale it can be separated by which one of the following?
[A] §5d HCI 43 (By HClI only)

[B] NaOH i< HCI 4% (By NaOH and HCI)
[C] 554 NaOH 43 (By NaOH only)

[D] 54 NaHCO3 43 (By NaHCO3 only)



Q.87 lsAlas AR Aeoiui 5 Qi AR -4l 2(Which statement is NOT True regarding oxalic acid?)

[A] AlsA(&s R4S 2iqrd NaHCO3 AL glawi CO, At Goiz U gle 4t 19 24 Ao 520 wlaRy- 509%
HCl 43 aiy §

Oxalic acid is dissolved in saturated NaHCO,
reprecipitated by 50% HCI.

with the effervescence of CO; and it is

[B] 100 mL 0.1 N »iisai(&s iRy (®(Q) W2 630 Puleaus oy -l R,

100 mL 0.1 N oxalic acid (Hydrated) require 630 mg weight.
[C] 2tisA s iRl SiBisear -COOH UHE YR WMIRA D

Basicity of oxalic acid depends on number of -COOH group.
[D] wellmi greyq LUAR-2URAY, H-0 G 21HIBA B .

Solubility in water is depend on inter-molecular H-bond.

Q.88 QIS 5AML ASZiewe Al yauy uj’ YR el "1 A2 wilamioll sul Bis 58 sait 5120 297

“Prussian blue” colour in the detection of nitrogen in the Lassaigne’s test is due to the formation
of which one of following complex?

[A] Fe.‘“[Fa'“(CN)u] [B] Fe2'[Fe'(CN)e]
[C] Feq"'[Fe''(CN)g] [D] Fe2'[Fe'(CN)e]
Q.89 'S’ WM 2 Pb(OCOCH;); A S-S5 iRLS 43 Haidl SLAL AL . Al AMi o4 51280 8 A

In the detection of ‘S’ black ppts are obtained by Pb(OCOCH3); and ethanoic acid is due to the

formation of __
[A] &s(ll) Aes15s [Pb(ll) sulphide) [B] ds(ll) ez [Pb(ll) sulphite]
[C] ds(Il) uegiz [Pb(ll) sulphonate] [D] &s(ll) 514l [Pb(ll) carbonate]

Q.90 léalas 2Alus  Aedlsaud viesidia 13 AR Wami 5241 HAdl s Szen ol gioyz 57

How many x bonds are present in product which is obtained by esterification of salicylic acid by

alcohol in presence of acidic medium.
[A].5 [B] 4 [C] 3 [D] 6
Q.91 sleapesliisl Sesas vinifsa Riear gz WAl uBuell nadl Ausa i di v wGami Gieaz

Hid Al 23U iis Hi udl 3251 o §?
Consider the product obtained by reaction of an alkaline solution of ammoniacal silver nitrate
with benzaldehyde. What is the change in oxidation number of silver metal in this reaction?

[A] +0 ol +1 (+0 to +1) [B] +1 4l +2 (+1 to +2)

[C]-1 ol +1 (-1 to +1) [D] +1 4l 0 (+1 to 0)



Q.92 N-G-ude 3Rllaiuss AL synRoitey- ote Hadl ey 12 ulamil 56 2is (8045 5AI2] 20ME?
Product obtained after the hydrolysis of N-phenyl acetamide ,which one of the following

confirmative test will be given by that compound?

[A] H[&s-5ui 53412l (Mulliken-Barker test)

[B] il 5412l (Phthalein test)
[C] e¥d-eu8t 512l (Silver-mirror test)
[D] »i31-315 5412l (Azo-dye test)
Q.93 3-Gdd UIu-2-54iSs R8s Ui 52el n-oiH4l Gl 89 ?
How many n-bonds are present in the 3-phenyl prop-2-enoic acid?
[A] 4 [B] 3 [C]5 [D] 6
Q.94 A4 2udal sl dior-inidl 4l 2is AR5 WEAL HEAL 0l [Axew 97
From the given organic compounds which one is the correct option for acetylation reaction?
[A] [l (Aniline) [B] AlaRi(as 2Ry (Salicylic acid)
[C] B--iruid (B-Naphthol) [D] Guz 244 o4l ¢ (All of the above)

Q.95 sieilAs AUSZL Adior-l M2l [pias s8] 12 2004 WGt q-ni @l 214" X "Ml .

For the confirmative test of organic nitro compound. Consider the given reaction. “X" is ___

Zn/NH,CI
Oy =

[A] Bl (Aniline)

[B] cil-»- (Benzene)
[C] N-Guta idgisila 2 (N-phenyl hydroxylamine)
[D] Bda @iesafl (Phenyl hydrazine)
Q.96 14 2utia Ul Sl di (Consider the following reaction)
(WY e
O;N
Gl uGa melldl © 4___ (Above reaction is known as)

[A] w2125 Hesziq viq4ll [Qrar4 wB (Aromatic electrophilic substitution reaction)
[B] i (25 Beszi wi4wll divielle ulut (Aromatic electrophilic addition reaction.)
[C] g1l (322144 B (Nucleophilic substitution reaction.)

[D] s-gtuiell 4irelle uluL (Nucleophilic addition reaction.)

18| Page



Q.97 UR-1 A YR-II 4 1181 (Match List-1 with List-11)

Q-1 (List-1) Y11 (List-
Hlsr-l (Compounds) WAL (Feilas said) (Confirmative test in Lab.)
a. W4 (Propanone)

L. PR 02| (Bayer's test)

b. RARs il (éinnamic acid) i AR A28 (Sodium nitroprusside)

iii. 2ld-d s (Tollen's reagent) b

S—
-

c. 9idld (Ethanol)

d._ oi-A1edl€1ds (Benzaldehyde)

iv. Na Hid 214 (With Na metal)

A1 vl WAl @seu waie 53 (Choose the correct option from the following)

[A] (a-ii), (b-i), (c-iv), (d-iii) [B] (a-ii), (b-iv), (c-i), (d-iii)
[C] (a-iii), (b-iv), (c-i), (d-ii) [D] (a-iii), (b-iv), (c-ii), (d-i)
Q.98 iR - 1A Naz[Fe(CN)sNOJ L gl i uBaL 52 B AR »isdl 390 W2 9 Al seifis
AU AL 54 ded GIOR B ?
When Lassaigne solution react with Naz[Fe(CN)sNO] solution, violet colour is obtained, which

element is present in the organic compound?

[A] N [B] CI [C] S [D] Br

Q.99 Al b siollas eyl 54 s olidl Adu 28E 42

From the given organic compound which one will-not give the bromo derivative?

[A] Al (Aniline) [B] Ratix{l4l4 (Resorcinol)
[C] p-2i&ydld (P-Toludine) [D] s=aiel1s (Benzaldehyde)
Q.100 {12 381 s161[s 2Adisv-il 2ulell B(Given below are the three organic compounds)
1. ARl Hleuds (Acetanilide), 2. 2141441 (Thiourea), " 3. Bl 3Rus (Picric acid)

GMR-AL AR 51045 oA Gl ASZior s Al 5a v Kl

Find out the total number of nitrogen atoms present in above three organic compounds

[A] 4 [B] 6 [C]5 D] 3



